gbobobz2013000000

gitddooooodooooodboooododoetddoondn
Q14b gooood
000,000 (000)

00000000 32m00000000000000000000 (J,K)=(1,1)~(6,6)060000000
0000000000 (CMZ)0O000000000000000000000000000200K0000
000000000000 (200900000 QMa)000000000000 (~25K)000 (>80 K)O 20
0000000000000 (21300000 Q06:) 00000000000000000000000000
0000000000000000LTEODOOLVGOO0O0000000020000000000000000
0000000000000000000000000000000

0000000 (201300000 Q06a) 0000 200 LTEDODOODOOOOOOOOODOOOOOOOO
000000600000 2000 LWVGO0000000O0000O00OOO0O000O00O0OO000000OO
00000000-00000000000000000000000000000LTEDOOOOOOOOOO
0000000000000000000000J>KOO0O0OO0OO00000000LTEDOOOOOOO
0000000000000000000200LTENONOOOOOOOOOOOO0O00O0OO0



